
APPROVAL SIGNATURE BLOCK

T-MOBILE SITE #:   DN01524E

SITE NAME:   CENTURYLINK

SITE ADDRESS:   1420 IOLA STREET

   AURORA, CO 80012



DN01524E

CENTURYLINK

1420 IOLA STREET

AURORA, CO 80012

T-1

TITLE SHEET

DRIVING DIRECTIONS

VICINITY MAP

DO NOT SCALE DRAWINGS

SITE PHOTO

N

SITE INFORMATION

APPLICABLE CODES

CONTACT INFORMATION

SCOPE OF WORK

SITE

33'-0" ROOFTOP

ZONING DRAWINGS

SITE NAME:

CENTURYLINK

SITE NUMBER:

DN01524E

LOCATION:

1420 IOLA STREET

AURORA, CO 80012

DRAWING INDEX





DN01524E

CENTURYLINK

1420 IOLA STREET

AURORA, CO 80012

ZD-1

OVERALL SITE PLAN

OVERALL

SITE PLAN

1

N

0 SCALE:      1"   =  15'   (24x36)

(OR)           1"   =  30'   (11x17)

15'15'



DN01524E

CENTURYLINK

1420 IOLA STREET

AURORA, CO 80012

ZD-2

ENLARGED SITE PLAN

ENLARGED

SITE PLAN

1

N

0 4' 8'8' SCALE:   1/8"  = 1'-0"   (24x36)

(OR)       1/16" = 1'-0"   (11x17)



DN01524E

CENTURYLINK

1420 IOLA STREET

AURORA, CO 80012

ZD-3

PROPOSED EQUIPMENT PLAN

EQUIPMENT PLAN

1

0 6" 1'1' SCALE:   1"  = 1'-0"   (24x36)

(OR)        1/2"  = 1'-0"   (11x17)



DN01524E

CENTURYLINK

1420 IOLA STREET

AURORA, CO 80012

ZD-4

PROPOSED BUILDING ELEVATION (SOUTH)

BUILDING

ELEVATION

1

2' 4'4' SCALE:   1/4"  = 1'-0"   (24x36)

(OR)        1/8"  = 1'-0"   (11x17)

0



CHAIN LINK FENCE TABLE

DN01524E

CENTURYLINK

1420 IOLA STREET

AURORA, CO 80012

ZD-5

CONSTRUCTION

DETAILS

1

SCALE:

NTS

TYPICAL CHAIN-LINK FENCE DETAIL



DN01524E

CENTURYLINK

1420 IOLA STREET

AURORA, CO 80012

ZD-6

CONSTRUCTION

DETAILS

1

SCALE:

NTS

CABLE TRAY DETAIL

10 3 SS38FW 3/8" STAINLESS FLATWASHER 0.01 0.03

9 3 SS38114 SS 3/8'' X 1-1/4" BOLT 1 1/4 in 0.06 0.18

8 3 RN38 RETAINING NUT 3/8" X 1-1/4" 0.04 0.12

7 12 G38NUT 3/8'' HDG HEAVY 2H HEX NUT 0.03 0.41

6 12 G38LW 3/8" HDG LOCKWASHER 0.01 0.08

5 18 G38FW 3/8" HDG USS FLATWASHER 0.01 0.21

4 12 G38114 3/8" x 1-1/4" HDG HEX BOLT GR5 0.06 0.75

3 1 X-SP1542 4 RUN ROOFTOP COVER 47.77 47.77

2 6 RCCLIP ROOFTOP COVER CLIP ANGLE 0.36 2.14

1 3 SLPR4 PVC ROOFTOP SLEEPER 22 in 2.10 6.29

ITEM QTY PART NO. PART DESCRIPTION LENGTH UNIT WT. NET WT.

PARTS LIST

57.98TOTAL WT. #

3

1

A

10

8

9

"32

"22

"

11 19/32

"
3 5/16

DETAIL  A

2

7

6

5

4
7

6

5

4

2

SCALE:

NTS

TYPICAL UNISTRUT WALL MOUNTING DETAIL


	DN01524E_A and E_Surveys_NSD - 07.27.17 - Final Survey - 4551590025.pdf
	DN01524E_A and E_ZDs_NSD - 08.XX.17 - Rev A ZDs.pdf
	Sheets and Views
	DN01524E_A and E_ZDs_NSD - 07.25.17 - Rev A ZDs-T
	DN01524E_A and E_ZDs_NSD - 07.25.17 - Rev A ZDs-T-1
	DN01524E_A and E_ZDs_NSD - 07.25.17 - Rev A ZDs-ZD-1
	DN01524E_A and E_ZDs_NSD - 07.25.17 - Rev A ZDs-ZD-2
	DN01524E_A and E_ZDs_NSD - 07.25.17 - Rev A ZDs-ZD-3
	DN01524E_A and E_ZDs_NSD - 07.25.17 - Rev A ZDs-ZD-4
	DN01524E_A and E_ZDs_NSD - 07.25.17 - Rev A ZDs-ZD-5
	DN01524E_A and E_ZDs_NSD - 07.25.17 - Rev A ZDs-ZD-6



